(2-Digit by 2-Digit )

Name:

(Muliiplicaﬁon)

a. 87 x 29 = d. The Oak Grove school district
just bought new school buses.
They bought 16 large buses that
can carry 72 students each. They
also bought 5 small buses that
can carry 32 students each. How
many total students can ride on
the new buses?

Show your work.

b. A schoolis putting new seats in
the auditorium. There are 18 rows
with 15 seats in each row. How
many total new seats does the
school need to purchase?

h k.
Show your wor answer:

e. Complete the table.

Input Output

answer: 24

36 576

c. 48

33 60

x 1Y Rule: Multiply by 16.
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ANSWER KEY (2-Digit by 2-Digit )

(Muliiplicaﬁon)

a. 87 x 29 = 2,523 d. The Oak Grove school district
just bought new school buses.
They bought 16 large buses that
can carry 72 students each. They
also bought 5 small buses that
can carry 32 students each. How
many total students can ride on
the new buses?

Show your work.

b. A schoolis putting new seats in
the auditorium. There are 18 rows
with 15 seats in each row. How
many total new seats does the
school need to purchase?

Show your work. answer: 1,312 StUdents

e. Complete the table.

Input Output
answer: 270 seats 24 384
36 576
c. 48 768
33 0 960
x 1Y Rule: Multiply by 16.

46 2

KH
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